FERSOFEEBZIEFFALER
BALE TH(EH) 4 T () B R | e SR mHLa AHLF
4A248 |RATHTERETIE RBTRETH 6,799,000,000| 6,799,000,000( 6,750,000,000 gﬁg'ﬁﬂ#iﬁﬂlgﬁﬁﬁ — %
4A278 |RAOTRFERNERSEELIS RETRAETHA 6,017,000 6,017,000 5,550,000| % PRt I 4 — %
48278 | FRIOCEERATHM T BEAREBERBRT|RETAEE 39,910,000 39,910,000 27,970,000 %%;ﬂgﬁ"*ﬁt%ﬁ — %
48278 EEI{S@?E:%EE%@%% HRARMITRESR RATEFFHA 4,476,000 4,476,000 4,280,000 #k X =4 K¥ — %
4H27H ;fﬁgg_'z {i)%éﬂ%% 2U- Mt RERARE RATRAETHAIE A 9,952,000 9,952,000 9,450,000 | ¥k X1 V< MAEBIE % —h%
5A98 |RBEMEBHRRSPEZERETIS REMARA 330,200,000f  330,200,000|  263,520,000(;k HE A &1t — %
5A98 |fEEEMBNANERETSE FRRTABMA 314,200,000(  314,200,000| 244,000,000k HEEHA &1t — %
5A9H %l;;h EEAERARRERRBIE (I RET/NETEMA 98,230,000 98,230,000 96,230,000 FEEFZEH A RAEXR — %
5898 |fEEVEBAENADEBERZRFELISE RATAEMA 90,290,000 90,290,000 64,000,000 kX = Ta— — %
5A98 |RBEMEHRRDPEZEEREKBELIS RBTMARA 89,650,000 89,650,000 63,300,000 kXS4 Ta— — %
5898 |TEEVEBAENARDEWWERFELSE FATAEMA 69,720,000 69,720,000 54,000,000 H R =41 )1l B TR bR — %
5A98 |RBEMEBHRRSEHWMRHEISE FATARMA 58,370,000 58,370,000 51,200,000 RS ZR/KBELHE —h&
5A168 [A#T/KEEHRRIE(30—1175K) RRHERDR 32,423,000 32,423,000 28,648,000 (X4t NHAER I X — %
58168 ?.ggjlgf’;‘ HERERARRRSRRUELE RAETH/NETEMRA 43,250,000 43,250,000 40,180,000 kX2 EAERLE — %
58168 ?11;1?55 REAERAREBMERRIELE | it arm 0 38,960,000 38,960,000 36,390,000(BH 5L\ KEM K =4 — %
5A168 |HRPEREZFKONVEATE FEAMARMA - - — | ER —fig
58168 qu:?&iim'ZE%E%% BUAEESEAR gt wREEEELERN 35,494,000 35,494,000 29,620,000 Bk K24 REEFRA — &
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5168 |BREFREBFET RETAEE 8,716,000 8,716,000 8,200,000| kX BIK BHEILIBIIE — %
6A1H i?f;*iﬁ%% RK B TH (FH30—1 RAME S BHA 32,450,000 32,450,000 29,051,000\ N EHEFRM X 4L — %
6A18 |EEANMNERRERAMMLRELSE REh ESRTAEST BN - - — | EH — &
6418 %gi%'mﬁﬁ'iitpﬁﬁmw/*y L PPN PTTE S 17,780,000]  17,780,000| 16,500,000 ¥kt &4t #5A T #5FR —
618 |AEFERERE S —BETIE FRA IR 105,988,450 105,988,450 75,000,000| kX EFEARIHE — %
618 |BR/NEREFHFKOVEZATS FEATARMA 14,420,000 14,420,000 14,000,000| N EEH A R4t — %
618 |[BREHMRRRHBRE(G0-1) RRheE 36,624,000 36,624,000 25,701,000 h REAFEMA 1L BARIE — %
618 |A£TKEERIEFERL(30—2/5K) RBTHRAHMA 11,011,000 11,011,000 10,550,000 F1a YL A Y B RE# — %
6A1H gig;gjmﬁ%%gm%ﬁab{"aﬂ%l%gg RATILAHA 6,864,000 6,864,000 5,150,000|SDEETE — %
648 |[BRPEREFFKUVEZIS FEAMARMA — - — | —fig
68188 |[fEREICH R EKEMZIE(29—2) RATIKH R F D 31,450,000 31,450,000 28,186,000 | kX4t F LT R — %
6F18H MM AEFERBEERTEARETIS RN 112,696,342 112,696,342 103,400,000\ # R &4 B AR LIS —
65180 | LXAFEREEEETSE AT LAERTEST Bt 98,140,000 98,140,000 96,500,000 (kX2 FEARIHEIE — %
6188 [BR/NERAKENTRIELIE RAMARMA - - — | —fig
68188 |HF/NERARENTIZNBELSE RETEBH N - - — | T°ER —fig
6A188 |ty E/NERE-BERENBRETE RemLHEHR - - — |~ —fig
6A18E | LiEch BB h R A ERRRIETSH AEH-ERATE2T RS - - — %= — 4
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6R18H [EHAIRIEERBRT RETAEE 13,012,000 13,012,000 10,600,000|FBFI#k K=t RAERAR — %
6A18H (AT KBEERFEHFERT(30—175K) FEATREAIFEA, 17,848,000 17,848,000 16,980,000| (kX 4t FAFE LY ILEU — %
6R188 [BIERAERIEHRE(30—3) RE TR R 7,208,000 7,208,000 6,830,000\ 1=#> B2 K&t — %
67180 [BIEHREFFHHEFE(30—-1) FEATABMAIZH 7,008,000 7,008,000 6,640,000| =& B EH X =1t — %
6188 BB EHEE(30—2) BEATTEA A 6,328,000 6,328,000 6,080,000 ;ai“*i) VAVHLTAOTHRAR | g
67188 |BIEREHRFTFHERFTE(30—4) RBH T FEHHA 6,318,000 6,318,000 5,950,000| R +L K 2 it — %
65188 gé'{;g% S RUNALMIBREARRBEL | e rimiRip i hn 8916000 8916000 6,320,000 |k /B — 1R B2 &+ B HSFT —
68188 |BIR/NERMLUBIEIEREIEHET REMARA 4,170,000 4,170,000 3,540,000|SDEEIE — %
65218 RANEFERTFEETEAERRFELIS AT A 14,530,000 14,530,000 13,100,000 #k X =+ RIREH — %
6A218 | LEAFERBTEEIRMKLIE AT EEETFEST Bt 12,980,000 12,980,000 11,700,000 #k X =+ RIREH — %
65218 RANEFERTEETEAMMRGELIS AT A 21,420,000 21,420,000 19,550,000\ ER=4L)I| S T 55w — %
6A218 |[LXAFEREEHRMRHBELS AT EEAETFEST BitbA 19,100,000 19,100,000 18,370,000 % BR & 41 N A 5% i —
TR4BR |AHETKEEHRRIE(30—75K) RATRAMA 133,882,000 133,882,000  101,000,000( 7 AR ER Ex kK &1t — %
TR4B |AHTKEEMRIE(30—175K) RehEHaHmA 78,045,000 78,045,000 62,000,000| A fREE XM 21t — %
TR4BR |AHETKEEHRRIE(30—355K) FEAHERBA 52,840,000 52,840,000 46,850,000 (X Rt NHAEH T % — %
7TH4B |[2HTKEEMRIE(30—455K) RATERA 46,617,000 46,617,000 37,000,000 A fREHEE XS4 — %
TR4R |HBRMEIE GRIEHE-B_234) RATREHAITH 9,767,000 9,767,000 8,443,000\ EE R KX =4 — %
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TR4B |BRMEIE (EXE) RETHIER A 6,251,000 6,251,000 5,379,000| H Rt #ZEE — %
7R48 |BEEtLU—ERMESHHIE RATEEHNA 138,700,000/ 138,700,000  137,500,000|;&:B &5tk K &t — &
TR4B |RBRXBRRETEHIE) RATESHETST BN 98,560,000 98,560,000 91,500,000\ X BREX LTS — %
7H4B |MEB#EIE(80—-2) REMARA 13,936,000 13,936,000 12,194,000| 4k XEH BAT ) —2 1R E — %
TR4B |SHEE#IE(30-1) RETHA A 3,586,000 3,586,000 3,121,000\ EREH KNERKR T X — %
TR4R |HhEREXRFERIT(RAEISL) RBTH KA A 5,311,000 5,311,000 3,980,000 | ¥ =X 41 175 ] 1 3 B 5 — %
7A4E |[RSAEZEREZZTCEAIFEEEBRR |RAmEHA 5,577,000 5,577,000 4,920,000 Fk[E — R EE L EHA — %
TR48 |RIERERFTEHEE(30—6) FEATREHAIEA, 6,567,000 6,567,000 6,235,000| =& L th R BRAE T EHH — %
TR4B |BIEHRFFHEFE(30—-5) RETAFRHA 5,765,000 5,765,000 5,500,000 | %X 4L Ki¥ — %
TR4B8 |RIEREFRHERFE(30—-8) RATHAAITH 4,926,000 4,926,000 4,790,000 AR+ AFIIRAE — %
TR4R |BRME-MEMHERGRBRECMUNIE) FERTRFHBAIEH 33,806,000 33,806,000 29,800,000 ;2%&% VoL MR aH — %
TR98 |EERIMNERARENBIIELIS RAMARMA - - — [RER — &
7R98 |HF/NERARENTIEIZELSE RATEDHN - - — | T°ER —fig
7A9A (BT ENFRR-BERENIREIE RemLHEHA - - — | —fig
78208 ?O'ﬁ\_ﬁf?kﬁgﬁ EEKERHB LR EERHF ot mmiem 107,570,000  107.570,000| 89,000,000 |kt &4t &5 K T #FR — &
7H208 |AHTKEEMHRIE(30—2/5K) FEATEHEHA 77,937,000 77,937,000 66,000,000 M XS NEER T X — %
TH208 |RESEZEH/KOERRI THMX IHETE RemREEFHhA 224,810,000  224,810,000|  204,800,000() | A L E MK 4t — %
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78208 fgﬁmﬁ%% BKEMERBLE (RHS0—2 lmiit L w24 30240000  30,240000| 27,064,000 |4kt £t #iFH T —
7H20H i%:;k%ﬁf REESER LTKEEBHTEMHE |\ @i 17,525,000 17,525,000 15,570,000 | ¥k X =+ 7 H g 2 5% — %
7H208 BRI E(30—-1) RATARMA 11,680,000 11,680,000 10,255,000| EREHH A =4t — %
7H208 EBHXRIE(30—1) FEATREBRIEH 8,913,000 8,913,000 7,833,000| K EFF e S BB =4t — %
7H208 |fBEMIETE FREATEE) RBehBRHA 6,711,000 6,711,000 5,990,000| E R &=t #xEE — %
7TA208 (IBRMEIE(LHKEE) FEAT EB KA 6,324,000 6,324,000 5,500,000 F R+ #xEE — %
7A208 [A#TKEEHRIE(30—655K) RATHRA A 3,853,000 3,853,000 3,493,000 | #FrEZXBRES — %
TA208 | b BE PERAERFRETE AEmLERMEZTRIEAE - - ~ 7w —fi
7H20R8 |BEMHEISE (B_8818) FRTE AR 7,091,000 7,091,000 6,150,000 | ¥R X =L KK — %
7H208 |BBREIEIE(A_1574) RBTKIFHA 6,783,000 6,783,000 5,855,000|#R X 4L KHK — %
7H20H L%ﬁit’ S—HRNESTRIFERERER |mammamn 3,942,000 3,942,000 3,640,000 {& AR & %3 — %
78208 ;@’J'J YIN—UBHERRETERERBR |\m s mmamn _ _ _ |z — g
7R 208 ;:ﬂ;gg_ﬂ; BEEXR BY-UHAERARS RETRESETHAES, 13,003,000 13,003,000 12,250,000( EREHT7—FTVIKE — &
7TA208 (BRRFHILEBEMBERERBERL(S0-1) |REMEE 10,778,000 10,778,000 7,544,000 ﬁggg;ﬁm:p#»@yh — %
7A208 (BIERAERFEBERE(30-7) FERREBBRIEH 5,209,000 5,209,000 5,050,000|7=A G LRI B ERET R & 4L — %
8A3H |AHT/KEEMHKRIE(30—10/K) RAEH/NETEM A 623,937,000(  623,937,000| 432,300,000(d EREEE A R4t — %
gA3n |AATKEER BKEMELE(BMIO—1 s minm 45360000 45360000 37,600,000 it EEHT % —
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8A3R |BEMELSE(BWHE) RETHRAETH A 29,621,000 29,621,000 25,865,000 (kXS AARY -V E — %
8H3A g’ ﬁ?iﬁg@%fg%i ETREERRTE S | st mrinpg 23,310,000  23,310000] 20,518,000 EEZEHX —fig
8A3H %g?ﬂkﬁ%% BUKEMERE LH (RH30-3 R ESEATEEIT Bt 17,040,000 17,040,000 15,178,000| B EEHE M X =4t — %
8A3H |IBEMEIEFHSHE - LEH) FEAT T FaHtA 14,021,000 14,021,000 12,154,000| %X &1 K% — %
8A3R |BEMEIE(1_250_154) R RBEHmA 11,507,000 11,507,000 10,488,000 | 4k X =+ IR ER — %
8A3H %sﬁ FHREEEER HREETEGCO— |mammEsmn 10,541,000( 10,541,000 9,262,000 ¥ X &4 K% —fig
8A3H [EHMHXRIZE(30—2) A TH/ETEM R 8,256,000 8,256,000 7,287,000\ EREHAFERE LK — %
8H3H |(BEMIEIE(LFE) AL H P 5,639,000 5,639,000 5,148,000| = HEZ Rk XS4 — &
8A3H |MEME#IE(30—3) RETRAERMA 10,170,000 10,170,000 8,884,000\ E R+ 78 H 5% — %
8A3A %Q%ggﬂﬁﬁiiﬂz@%ﬁ$% I shiEsE FEATKEBAIFH 9,100,000 9,100,000 8,390,000 |FAFI#k K&t RBEXRAR — %
8A24H |BEEMEMRTE (RER) RRTE AR 95,510,000 95,510,000 86,200,000 (AP EZ B X =4t — %
8H24H ;’T‘Iﬁg7 KEHER BKERRELE(RHI0—1 RBTHARMA 15,810,000 15,810,000 14,079,000\ X = FREKTFT — %
8A248 |EREABREIE(29—-3) A=Y b 12,010,000 12,010,000 10,465,000 | 4R X =4 K%K — &
8R248 |AIEMERTHE(30—4) RETMABIA 7,174,000 7,174,000 6,310,000 X EHITHFE — %
8H24H |AIBEMHRITE(29-5) RemREEFHA 5,901,000 5,901,000 5,168,000 4 X+t EHLIFE — %
8A24H |MHFRABTERNREZERETSE RATEISHA 122,700,000(  122,700,000|  117,500,000|#k K &4t SR % — &
8A24H |RAT/KEBEEEX F245KRHEIE RATHAFHA — - — | R — &
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8A24H |RBRLMHEHRIEHE(30—4) RBTHEFH AT 9,804,000 9,804,000 8,700,000\ & EE XK/ A=t — %
8A24H |WEXNEHEENo. 2 LKL EEISHE FAHIERA 4,850,000 4,850,000 4,800,000 JI| A TE KK 4 — %
8A248 |AIERFERHRE(30—9) RETKEHA 5,864,000 5,864,000 5,540,000| = £ B2k X1t — %
8H24H %gggg_’zg BEEX BU-UfAERER FEAMEFFHA 3,007,000 3,007,000 2,880,000 AR EHT7—FT VI KE —fi%
8H248 ;ﬂ:;g%\-zgg%%(ﬁ%ﬂ)i#ﬁ%ﬁﬁ-ﬁ%éﬂﬁi RATERBAITH 5,802,000 5,802,000 4,730,000 nob—fRZ E L EHFT — %
8H248 %ﬁg;%%;f%ﬁgmi%ﬁﬁ'ﬁﬁg&ﬁi RATHHFH AT 3,641,000 3,641,000 3,000,000 EREHT—FTvIKE — %
8A30H |AHFRAFERXREEIRKRELSE RATHESMHA 19,990,000 19,990,000 18,050,000| 4k X =4t EE 4t — %
8A30E |MHFERABFEXNRERMRFERIETSE RETES A 10,450,000 10,450,000 9,400,000 AR FR/KETLHIE — &
98108 ?fg’kﬁ$¥ RLKEERE L (RH30—1 R THARE A 46,680,000 46,680,000 40,800,000k XEHNBEERTE — %
9A10H §f£7kﬁ$¥ Rk EREE LB (B30~ FRATRIERBA 41,340,000 41,340,000 37,096,000 | (kX =+ ERIFL 32 — %
9A108 [MER10SHEBRXRIE(ZD) FERHARBAIEH 31,080,000 31,080,000 28,367,000 (¥R X =4 &K — %
9A10H |BRESZFHKERERIKAAMR |IZEIE [RATRKAMKN - - — [RER — &
9A 108 (IBRMEIE(ZRAEHR) A TR A ET A 25,031,000 25,031,000 21,820,000k X4 K%K — &
9F 108 ?f[g*iE%% BKERERBLE (RHS0 |m i zinm 23540000] 23540000  21027,000|&HBL VK EMK R —
9A10H [EBHXRIZE(30—3) AT LI 3 ) 6,077,000 6,077,000 5,678,000 fR &+t A4 — %
9A108 (IBEMBEIE(FHRER) RBMTFEA 5,944,000 5,944,000 5,127,000 (/= BEHFEH A 24 — &
9A108 (MERTEEENEEREIE(60—-1. —2) |[RATHRTEHA 36,730,000 36,730,000 34,750,000iE B Hk X A4t — %
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9A108 (EEEBIEA —/N\—RS(4—EIBISE RAT/NATEMA 2,180,000 2,180,000 2,100,000| R+ 41132 L — %
9A108 |izASNMHVART=Ra—ISELE FEAhiTzOmR 17,920,000 17,920,000 15,764,000 # X2 K H 215 —fig
9R108 [EMREAKTRETE(30—1) RERTHESHmAIEN 6,821,000 6,821,000 6,100,000| %X =+ E R B — %
9A108 [AHT/KEBEERTEHFERT(30—4/K) RAT/ETEMA 21,649,000 21,649,000 17,900,000 ﬁig%%_tj Eeicid — %
9108 |A# FKEERHEBER(30—55K) BT EEMA 16,847,000 16,847,000 16,400,000 g*a’m’#“’:’wdﬁﬁg —
98108 |RBLBSRMBLEHLEENRAEERE RATESHETTE 1T BHhA — - — [RER — &
9A268 (RAA/NFRREERIE RATIRETH P 74,261,000 74,261,000 66,408,000 N HEFZ# kX =1t — %
9F 268 ;E\;ﬁ*ﬁ$¥ BKEMERE T (RHS0—9 i it mnith g 45150,000] 45,150,000 40543000 |#kt &AL HH TIEIE — g
9A26H %g?ﬂkﬁ%% FKEMEE L (RH30-7 RERTHEEMBRIEH 31,770,000 31,770,000 28,451,000 kX ER KL R — %
9A268 EBHXRIE(30—7) RBH T FEHHA 13,745,000 13,745,000 12,086,000/ FrEEM A4 — %
9A26H %ﬁ#itﬁﬁ@%fi%% KEEMETH (30 RATEFF A 8,230,000 8,230,000 7,298,000 BR LRV MBI £ — g
90268 (LBYRSERETE(ZND4) BRIt 7,968,000 7,968,000 6,982,000|FZ B R4 — %
9A26H [EHAHXRIZE(30—4) RBTRAr A 7,096,000 7,096,000 6,208,000 |FEEXH R4t — %
9A26R |iEMHRTE(30—5) REME LA 3,334,000 3,334,000 2,910,000| BRR&+L BT 1) —2 — %
9A26H (ILBYRHETIE(ZD4) FERTRA A 28,748,000 28,748,000 25,378,000 | ¥k X &1t K a4l — g
9F26R |HEE#EIE(30—-5) RehEHaHmA 15,455,000 15,455,000 13,527,000 XS+ FHH TIHFE — %
9F26R |HHEEHEIE(30—4) RATHRIRHA 10,236,000 10,236,000 8,938,000| M EE X/ K&t —fi%
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9F26H g@;ﬁ;}gﬁ%% ERF-EKBEKEIET |t 164,720,000  164,720,000|  163,300,000| % EREE S BE Tt & 4t —
9H26H g'ﬁiﬁ’l‘#’kwﬁm' VRVTIVOUARIERT | s ki shin 6,030,000 6,030,000 5,800 000X RME—TH/ BHEXE —
9A26H aﬂg%g&?r%ﬁﬁf(Eim"q*ﬁﬁ%%'gﬁ%@ RETKEHA 14,048,000 14,048,000 13,700,000( 1=A Al EH A =1t — %
98 26H gigﬁ%%ﬁﬁ{(E¥Mﬁ*ﬁﬁ$¥ﬁﬁ%® RATMARBMA 8,968,000 8,968,000 8,650,000 | ¥R X =4 Ki¥ —h%
108128 E?\Fﬁ*ﬁ%% BKEMEBLE (01T RATIIRAIFEH 34,250,000 34,250,000 31,708,000 (¥R X =41 &K — %
10A 128 [EXEFKERERIAAAMR IFETE |RATKAHA 26,340,000 26,340,000 26,190,000 (¥R X =41 &K — %
108128 gﬁg*ﬁg% RKEHRE L (FH30—1 R RBEHRIEN 21,549,000 21,549,000 19,222,000\ EZ Rk =4t — %
10A128 (BiBHBZRBELTE(30—1) EAT EHEHA 18,640,000 18,640,000 16,599,000/ A FFE /A =4t — %
10A12H [EBHRIE(30—9) REMEHA 17,656,000 17,656,000 15,580,000 XS FARLIFIE — %
10A 128 [EBHRITE(30—6) RATERMA 15,720,000 15,720,000 13,872,000| P R FHA X — %
10A128 BB TE(30—7) R ThrEEmA 15,638,000 15,638,000 13,738,000 | %k X 4L KK — %
10A 128 [EBHRITE(30—13) R4 i ] & 3t P 11,817,000 11,817,000 10,396,000 AR =#/IMALTET R — %
10A12H [EBHRIE(30—8) FEATME SR 11,303,000 11,303,000 10,022,000(i% Rk 2 RH A 4t — %
10A12H [EHHRIE(30—5) RETMABIA 6,609,000 6,609,000 6,122,000\ EREHAFEE LK — %
10A 128 |$%E#TE(30—6) iR i [ 0 3t ) 10,227,000 10,227,000 8,924,000\ WA EZH XS4 — %
108128 §§$£€31$gﬁﬁ§g*mﬁﬂﬁﬁ'ﬁ\ﬁﬁl FEATEHEHA 8,096,000 8,096,000 7,690,000| B R =+ #FH ALK — %
10A 128 At RRAERH R RBHSRHA 5,390,000 5,390,000 3,788,000 HARH BRI SIS — %

B EEHT
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108296 f,@?’kﬁ% BRKEMEHRE THE (EHS0—5 |t o T B E A _ _ _|Frs — 4o
108298 | I ZHITE(30—1) RBTHE A 41,654,000 41,654,000 38,029,000|iE D H kX 4L — %
108298 | K3E)I| B 2hEcfElIEHIE T E RBTPFHRHA 38,133,000 38,133,000 34,900,000 | kX4t 85K THFT — %
10A29H g?fg*iﬁ%% RLKEHEE T (EH30—1 FEATHEGHEA 37,480,000 37,480,000 33,618,000 (X BRI -V E — %
10A298 |RESFHKERESR TARMK IZETSE R RBEHmA - - — | A — %
10A29H g:fazj):fmz ERESR LTREEMRIE(S FATIESETHN 11,541,000 11,541,000 10,365,000 {5 R EFH M =4 —h%
10A29H [EHMHRIE(30—14) EamEH AN 6,934,000 6,934,000 6,066,000\ Rt #xEE — %
105290 i??;lwkﬁ%% R KEMHETH (EE30—1 T b ML _ _ _ |z g
10A290 (BRMEIE (SFE-BEHET R mthRA 17,444,000 17,444,000 15,129,000| EZ Btk X =4t — %
10H298 |SMEHHIE(IDO52TASIIM-ZD) RATRINEHAIFH 9,792,000 9,792,000 8,606,000\ AR/ EETE — %
10A 298 |SEE#ETE(30—7) FEATEEMR 6,704,000 6,704,000 5,837,000\ ER&tEH L2 — %
10A29H [RBREMEIE(30—1) FOMEAEI2T B#tAIFH 25,213,000 25,213,000 22,151,000 M XEH AEIRT1— — %
108290 (TEEAMERE T —JILEHIE RAT/NATH A 4,731,000 4,731,000 4,490,000| X =4t 3t — &
11A28 |RBLEFLHFEKE-FKEVNYELISE RAT ELEETFE 1T BitA 360,305,000)  360,305,000| 336,500,000y EREEEE A R4t — %
115146 fﬁ;*ﬁg% BOKEMEBLE(RIS0—1 i i tgt, nibm 43240000  43240000|  38,843,000|P HEEE &4t — &
11A148 T)g&iiﬂ'z EEEER FKERRIEGO- RBTHRAETHA 34,011,000 34,011,000 30,055,000 M X=#HEHF AR — %
11R148 REMKERR BKERHELER (BI04 | pnmrmpmrainm 23,100,000 23,100,000 20,638,000 FRR =4t M H L2 — %
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Bi4LE T (£H) % TH(EH) B Gnom | @rem | Gsem EALE AHLF5iH
11A14H %g?ﬁkﬁ%% BLKEHERE T (B30 —1 FATLEH AR 16,670,000 16,670,000 14,846,000 | 4R X =+ i TH5/E — %
118148 %égﬁmﬁ%% RKEHRELH (RH30-6 RATMABEKABHA 15,640,000 15,640,000 13,924,000 [FikE R S4t — %
11A14H [EBHXRIE(30—15) FRA IR 10,448,000 10,448,000 10,000,000\ H R+ 2R — %
11A148 [[EBHRITE(30—16) R TR R 7,630,000 7,630,000 6,681,000\ HRE+T KERFK T ¥ — %
11A148 [EBHXRIE(30—-17) R RBEHmA 6,398,000 6,398,000 5,624,000 KB Er e S @R/ a4t — %
11A148 |fIiEHRTE(30—6) R TYERH R 4,559,000 4,559,000 3,980,000| K EFF A S BB =4t —
1MA148 |RoR—)LEB# (30—2) RATHAA 3,109,000 3,109,000 2,900,000\ ERR &=t #RIEE — %
A48 BRI EREBNEE @A ISE FRAMEAEI3T A — - — [RER — &
11A148 (#EAEIHITE(30—1) EATLEHEHA 24,165,000 24,165,000 21,277,000 AR &+t KE7 32 H — %
A4 | KEFNERRESELLTS RBTAT SR 7,633,000 7,633,000 6,900,000 | kX =+ ERIEE —
118148 g;g%g%% F18BIKBKBTUEDATE |oo ot st 1,430,000 1,430,000 1,050,000 %**,ftﬁii%éﬁ%%ﬁflj ] "
11A158 fg?ﬁkﬁ$¥ RKERELH (EH30-5 FAMERARI2T BHRNIEH 60,880,000 60,880,000 56,081,000 (kX EHRKLEKR — %
1MA158 |REEFIKERESR THTME IZETSE RemREEFHA 19,250,000 19,250,000 19,000,000\ A REABEEH#H X4 — %
118158 %gﬁmﬁ%% BOKEMERBE LE (B30 imsis + Eipy 6,840,000 6,840,000 6,099,000 [# &4t K —
11A30H gﬁg*ﬁg% BOKEMEBLE (RFS0—1 oot g Wit E 0 34,820,000 34,820,000 31,215,000 | (kXS KA — %
11A30R [EBHRITE(30—12) RATEBHA 14,115,000 14,115,000 12,449,000\ EREZHR MK =4 — %
11R308 EFTLOREERER HRRETSEG0- ERTEZFFHNA 13,383,000 13,383,000 11,767,000\ HP S B4t — %
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11A308 [AH£T/KEBEEMRIE(30—875K-FK) REMEFFHA 13,282,000 13,282,000 12,962,000 | ¥R X S+ F H &M 2R — %
11A308 | KiE)I| BB fEIEMH IS FATF HtA 12,406,000 12,406,000 10,900,000| H P S M4t — %
11A308 (BEKEEEELE (30— 1) R TEREA 10,020,000 10,020,000 9,012,000\ R+ FE HEEHR — %
11A30H [BEKEREHELE(30—2) R TERE R 6,268,000 6,268,000 5,956,000| FRRELFEAHF AL — %
11A30H (g% TE(30—8) RBEMEtr SN 6,235,000 6,235,000 5446,000| &% EHERKA R4 — %
11A30H I%'fﬁiﬂmz ERESR KEEFHRIHEEO FATEFFHN 5,640,000 5,640,000 4,989,000 & EMERMARH —h%
1MA30R |\ ERBEEMFZAISE FEATME SR 21,369,062 21,369,062 18,670,000| 4k X =t KA # — %
11A30R |2EHHEREESHARISE RBH T FEHHA 19,706,500 19,706,500 14,118,700 HP SEHZMH A =4 — %
11A308 [FR&T)—oR—ImERERIEIS RETEEHA 47,080,000 47,080,000 43,290,000 (# PR =41 fE0 AT &% 1 — %
11H30H 2”3;;(;%,)55% BKRTREHLE (19, RATHAHAIZA 13,300,000 13,300,000 12,800,000 #f X &=t Ta— — %
11A30H (#EAEIHTE(30—2) REHERLA 38,078,000 38,078,000 33,684,000 FTEE R H A+ — %
11A30H | B#IE(29—-9) REMHZOMA 16,115,000 16,115,000 14,121,000 E R EHEH X 24t — %
11A30H [#EAEIHITE(30—3) RAT/NATH A 7,077,000 7,077,000 6,164,000 37 EfFtZ R =4t — &
11A30R |SHE#HRTE(29—-4) FEATRETRRAIEA, 7,059,000 7,059,000 6,164,000 ARZHRBVF 1D — %
11H308 |SE#HRITE(30—2) FEAT/NETEBRAIEH 4,705,000 4,705,000 4,111,000 ERSHRBVFAIL — %
11A30R |HE#HR/TE(30—1) o TS [E 3,638,000 3,638,000 3,179,000/ ERZHRB V1D — %
11A30H (&KX ITE(30—4) RAT T FEHHAEH, 2,896,000 2,896,000 2,620,000\ HERR &=+ #RIEE — %
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11A30H |#HE#HERTE(30—5) RBTKRIFEEHAIFH 2,597,000 2,597,000 2,288,000 #k X =t K% — %
128198 |BEFLMEERESREEX EHIE(30-5) |RATEFFHA 22,211,000 22,211,000 15,547,700 F RS /AT BT X — %
128198 %g?ﬂkﬁ%% BKERERBLE (TR0 w2t 13,780,000]  13780,000| 12,256,000\ ME R Bt 21t —
12R198 [EHHRTHE(30—10) FEATRIHA 12,497,000 12,497,000 11,001,000 Sk 2HEH KX a4t — %
12A19R8 E?\Fﬁ*ﬁ%% MEAEIELE(EHI0—2L REHELHR 21,500,000 21,500,000 19,153,000|{EREEHEM XS4t — %
12R198 |FE#HR/TE(30—-3) FRATAEBAITH 5,081,000 5,081,000 4,440,000| T EBHZIBRMEE — %
12A19A (BR/NFRENBE—HBEAIE RATERARST BN - - —| A — g
12198 [FAEBELESETOVIRBIELS RAMESETRIT AR — - — [RER — &
128198 %g%i;g_@%%ﬂ%% E9- Mt RAERE R FRATEFFHN 3,793,000 3,793,000 3,600,000 EREHT7T—FTYIKE — g
12R198 [EBHRITE(30—18) FEATLEHEHRA 9,141,000 9,141,000 8,019,000| AR+ ZTER — %
128198 %ﬁﬁimzm%ﬂ%% HERSRETH (30— RBTMEFFHA 8,977,000 8,977,000 7,869,000\ R+ ARF K — %
12A198 [HEHREIE(30—1) REMRMA 8,949,000 8,949,000 7,961,000\ F R&+t 5 — %
128108 [RETRERR RAEAEBLE(@9-6T | pumimrin 8510000 8510000 7,605,000\ IR A B T KA — i
128198 ,J;Eg;ﬂwkﬁ%% BLKEMRBIE(T/K30-2 70 8 T AR _ _ _|zx g
128198 [FATKEEE HARBREIE(B30—1IR) [REmILAHAZE, 2,480,000 2,480,000 2,181,000\ ERE+IFAHRIMEIEAR — %
12R19R8 [EBHRITE(30—11) REMEFFHA 1,993,000 1,993,000 1,968,000 A R4t #RTEE — %
1A188 |(R¥FF) ML RENMETS FEAHEFFHAIFTH 82,840,000 82,840,000 78,800,000| H AR R MR X =4t — %
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1A188 |BHRHRIE(30—19) RETHRBA 35,800,000 35,800,000 32,340,000\ WEHEFZM X 1t — %
1A188 |dBYRSBERETIE(£D5) ER TR 14,550,000 14,550,000 12,852,000| kX =i THIE —
1A18H |TEH105HRERARIE(ZND2) RBATARMAIFEH 13,091,000 13,091,000 11,534,000 2Rk X =4t — %
1A188 |RATMAKEER BEKERKZIE(B0-1IR) [RAT LKA 1ITHHKR - - — |5k — %
{B1sE %g@kiﬁ%% BKEAERE TH (29~ 1 | s ceoe mam g _ _ x5 i
18188 |TROTUEREANBERFBEIS (RE) FAT LGN - - — | R — &
1A188 |HEE#ETE(30—-8) FEATAMAMA 46,163,000 46,163,000 40,946,000 (B2 HEH A=+t — %
1R18H §?$7}<E$¥ MEAEIELE(EHIO—1T RA TR SR E A 20,030,000 20,030,000 17,864,000 D ZHEH =4t — %
1R188 |(R¥F) A& A REEHIE REHEFFHA 27,240,000 27,240,000 25,036,000 ;% R &t Bz K =4t — %
1R188 |NIIAPEREIHIGHEIETIS FRATHEGBHA - - — [RER — &
1188 [RAHEHELESZBIOVIRRELE AT LSERTRIT Bt 3,899,000 3,899,000 3,838,000k AEZFZM XS4 — %
2A1R |HYHERRTERITEBERR RETHE ARET A 26,880,000 26,880,000 18,870,000 %%g;ﬁ;}bﬁ@ﬁ%ﬁﬁﬁ — %
2A18 ggﬁ;*ﬁﬁ%ﬂg&%aﬂ@z;(63&@)5&%%5@5 RRHERDR 2,534,000 2,534,000 1,837,000 nob— #R3Z £ T FEH5FT — %
3A4B |[BIRDMERAREENMMRSIELS RRTMARA 49,530,000 49,530,000 49,450,000 (1% FNEEER TEHA R4t — %
3A48 |HAF -7 ENERTANIMEEISE FRATERMAIEA - - — | ER — &
3A48 |LEFERTARIMEEISE RATESHETTE2T Bt - - — | &R — &
3A48 |BR/NERTARRAMGREISE FRATHA A — - — | R — &




